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10.

Instructions for the Candidates

Write your roll number in the space provided on the top of this page and roll number with
subject code on the OMR Sheet attached with this booklet.

This paper consists of fifty multiple choice type of questions. Answer all the questions. Each

question carries two marks.

Each question has four alternative responses marked (A), (B), (C) and (D). You have to select

only one correct response and mark it in the OMR Sheet with blue ink ball pen.

00/ 10O

Example :

Here (C) is the correct response.

Your responses to the questions are to be indicated only in the OMR Sheet pinned with this
booklet. If the marking is put at any other place than in the OMR sheet, it will not be

evaluated.
Two sheets are attached at the end of the booklet for rough work.

If you write your name or put any special mark on any part of the test booklet or OMR Sheet
which may disclose in any way your identity, you will render yourself liable to disqualification.

Do not tamper or fold the OMR Sheet in anyway. If you do so your OMR Sheet will not be

evaluated.

You should return the OMR Sheet along with this test booklet to the invigilator at the end of

the examination and should not carry any paper with you outside the examination hall.
If the OMR sheet is not returned along with the test booklet, you will be disqualified.

No candidate shall be allowed to leave his/her seat or the examination hall/room till the end

of the examination without the permission of the invigilator.
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Each 53 of ¥sHIEH® ends in
(A) Ju= A Wl
B) aduH = <@
€C) 9\ T%:
(D) T 7 AreHeAfd 9v= |
J9-AfFHaH-GaIE occurs in
(A)  HAfEg
(B)  arafTug
(C) UF sINvash
(D) ryeEfEar |
Select the correct pairs —
a) AfqemRf 1. ~fafawf
b)  FEAEARA 2. gz
¢ SRR 3. Tt
d  ==EAR 4. s

a b c d
@ 1 2 3 4
B) 4 3 1 2
© 3 4 1
D) 2 1 4 3.
‘OISl ASYETE FAICEY ?
() freeq
(B) SATHIH
() <Efaeyq
(D) @< |
" e | goraTe TR 2" — TGl FangeeEEtal g faw 2
(A)  TERIH
(B) AL
(©  foores
(D) T=H® |
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6.

10.

FFAHIAS T Feearoeyehe A FTRIosm wWge: —
(&)  Afdeemem

(B)  Srq9sITErd

(C) Itz

(D) TS |

Match the list on the left to the one on the right :

a) Yama 1. Yaska

b)  Nirukta 2. Sarama

c) Pani 3. éik§5

d)  Prati$akhya 4. Yami
a b c d

(A) 1 2 3 4

B 4 1 2 3

Cc 2 4 1 3

(D) 3 2 4 1.

TR FIseh: ?

VEEC L

B) I

(€ g

(D) o

TEFTHE AT FETETVT AT —

(&) faan

(B)  SATRIIH

) 3=

(D)  fee |

What is the exact type of the following Sutra ?

FomfAfee TaE IUESY —

@ fafy

(B) @

(C) AfYFR

(D) 9y )



11.

12,

13

14.

15

16.

5
‘w3t TR fEfaftedy sared egsad ?
(A)  STEAN \HEEaaq
(B) wHHifa9ET dgalat
(C) EEYd WA
(D) FFAYE =R |
Tick the exact illustration of FHfU1 Tgeff —
(B et e
(B) ¥ard wfehid:
(© I At
(D) &A@ P |
tured: — ' g YR e aHE S e quoftey —
@A T
B dfs:
(C) Tifag
(D) & |
Ff T ALFATH —
FgeLordl: o1 favfefddiad ?
(A T
(B) TIH
© Tt
(D) GEHt |
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17.

18.

19.

20.

21.

22.

Change of 3 into¥ is called

@ ™

(B)

(C) FoFER
(D) dfg |

Match the sounds on the left to the names on the right :

a) y 1. Open, long vowel

b 4 2. Labial stop

c) a 3. Fricative

d) b 4. Semi-vowel
a b c d

A 4 2 1

B) 1 2 3 4

G 4 3 1 2

D) 2 4 3 1.

Grimm's law and Verner's law apply to —

(A)  Celtic

(B) Italian

(C) Germanic
(D) Greek Branch,
The suffixes ™ and Wd] are technically called

A JTH

(B) U<

() Tfd

(D) fas
FATEYATEI means

@A) yH, Fd, wm, Wy

(B) Towm, dvm, @y, IW

(© o=y, ey, SUE, %

(D) fowg, e, sAfysRy, ey |
‘Tt 'fa AeTaTee TSI HaTTd
(A)  STEsaToTn

(B) 3TSIEmIOTA

(C) SIBISTERITAl

(D)  YTTA&TOE |




23.

24.

25.

26.

27.

ﬁrﬁmum%@: fag a?{[*ﬂf: —

(A) T

B) foram

() wifa:

(D) == |

Arrange in correct order —

a) TR 1. HwHq

b) SURLHH TR 2. [

c) Y YhIRIhH 3. dH:
a b c

@A 1 2 3

B) 3 2 1

c 2 3 1

D 1 3 2.

The concept of THI is propounded in —

(A)  HEERIEH

(B) @EER

(C) TS

(D) THHUT |

‘Tife ;" is the defining characteristic of —
@A)  gmeE

(B) w&HIvHE

(C) HAFd9F

(D) == |

What is the faua of a5 ?
(@A) sy

(B)  I9f

C) 3T

(D) R

0310-II
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28. &9 is the characteristic of

@ IS
(B) 3EHR
< Ha:
(D) 9gAdHTA |
29. ‘37 Wi FEURHHRY Fdd’ 3 fagra: wafer e wifwed ?
(A) e
(B) @R
(C) =&l
(D) WA |
30. ‘xR TEEA AU —
@A) AR
B) AUAI]:
(C) AT
(D) fa&:
31. frHrey wafed 779 W= srevgened: gfaaes ?
&) IEHRIERET
(B) TR
(C) d=_rER
(D) THEUT |
32. Choose the correct match from the codes given below :
a  ggR 1. faum=
b)  w9H 2. ®H
c) I/ 3. T
d T 4. a.
a b c d
@A 4 3 1 2
B 1 2 3 4
C 4 2 1 3
(D) 2 4 3 1.

33. Incompatibility of the primary meaning is an essential condition for the operation of
(A)  Abhidha
(B) Laksana
(C) Vyanjana
(D) Tatparya.



34.

35.

36.

37.

38.

39.

9

Match the following using the codes given below :

a) Bhavabhuti 1. Kumarasambhava
b) Bhattanarayana 2. Svapnavasavadatta
c) Bhasa 3. Uttararamacarita
d) Kalidasa 4. Venisamhara.

a b c d
a 4 3 2 1
(B) 2 1 4 3
€ 3 4 2 1
D)y 1 3 2 4.

The Ratnavali is the play of the —
(A)  nataka-variety

(B) prakarana-variety

(C) natika-variety

(D) vyayoga-variety.
Il authored —

(A) gAY, Tugy, FparerEy
(B) FSad, SUFIARERA, TEe!
©) AfErRgd, AUHER, SRR

(D) AfEHeIFe, TE, Tegd |
Who is the author of JUfHERH ?

A) foaemaes

(B) gy

(O I FRINEL

(D) STYEY |

Ty e AYRivs e 9IS occurs in—
(&) A

(B) FIerEl

(C) TAEet

(D) FfFFEIF<d |

The first act called citradar$ana is incorporated in the play —
(A) Svapnavasavadatta

(B)  Abhijfianadakuntala

(C) Uttararamacarita

(D) Venisarmhara.

0310-11



0310-I1 10
40. The masterpiece of Dandin, the Dadakumaracarita is composed in the —
(A) Gaudiya riti
(B)  Vaidarbhi riti
(C) Pancali riti
(D) Avanti riti.
41. Kalidasa's Raghuvamsa contains —
A 19 cantos
(B) 20 cantos
(@) 22 cantos

(D) 17 cantos.
42, STUITIEY FATEA STEHRTHTATARG: IZ-Hehdll Tard ?

(a) Sl
(B) =
(C) =aheufiy
(D) wfafafesamt |
43, wWEIYAArERay srerarfiay —
() FHEfd
(B) TUHHRANA
(C)
(D) FEEhd |
44, TEHE Y THA JATEASQE Hl ST —
@) Aty
(B) =TT
(C) =T
(D) drgdgeT |
45, HH=A @it faga —
RTSICTSTITH HIAAITTeRAT
a) AT THICHeh hiedH 1. 9mHA:
b)  faes s 2. favamy:
c)  HIAHIIH] &&H: 3. F<h:
d) EEAIRE Wﬁﬁﬂ"{ 4 A=A
a b c d
@ 2 1 4 3
B 1 2 3 4
© 2 3 4 1
(D) 3 4 2 1.



46.

47.

48.

49.

50.

11

HrereeH 7 e ufd: —
(@) S

(B) =

() Sifafafresgm

(D) U |

TYETHAGT TIgdl odd —
() fgaasg

(B) TAEASE

() TFASE

(D) WLSE |

e 7 A mfayHE 7 s EReY Al agYesad ?

@A) WHaHaE

(B) wWERd

©€) IR

(D) Hud |

I T AT veA g —

I TG CETIRII —

(A)  Shregdl

(B) ¥Fdt

(C) T=ar

(D) =IAar |

FTEATHE FHE A aifersni faga —

a)  auIfh: 1. 38

b) T 2. afaen

c) I 3. W

d) E®IHH 4. HyErag;
a b c d

@a 1 2 3 4

B 2 3 4 1

< 2 4 1 3

(D) 3 2 4 1.
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